
SAP ABAP table VTV_SIGESH {Simulative Entry of Hedge Transactions}

VTV_SIGESH

MANDT [CLNT (3)]

SANLF [NUMC (3)]

SFGTYP [NUMC (3)]

SGSART [CHAR (3)]

SFHAART [CHAR (3)]

WGSCHFT [CUKY (5)]

WGSCHFT1 [CUKY (5)]

WGSCHFT2 [CUKY (5)]

WLWAERS [CUKY (5)]

WFWAERS [CUKY (5)]

WBLBETR [CUKY (5)]

WPRBETR [CUKY (5)]

OPTTYP [NUMC (3)]

AT01

SANLFOR [NUMC (3)]

SFGTYP [NUMC (3)]

 VTV_SIGESH-SFGTYP = AT01-SFGTYP 
0..N

0..N

AT10

MANDT [CLNT (3)]

SGSART [CHAR (3)]

SFHAART [CHAR (3)]

 VTV_SIGESH-SFHAART = AT10-SFHAART 
0..N

0..N

ATO1

OPTTYP [NUMC (3)]

 VTV_SIGESH-OPTTYP = ATO1-OPTTYP 

0..N

0..N T000

MANDT [CLNT (3)]

 VTV_SIGESH-MANDT = T000-MANDT 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VTV_SIGESH-WBLBETR = TCURC-WAERS 

0..N

0..N
 VTV_SIGESH-WFWAERS = TCURC-WAERS 

0..N0..N  VTV_SIGESH-WGSCHFT = TCURC-WAERS 

0..N

0..N

 VTV_SIGESH-WGSCHFT1 = TCURC-WAERS 

0..N
0..N

 VTV_SIGESH-WGSCHFT2 = TCURC-WAERS 0..N0..N

 VTV_SIGESH-WLWAERS = TCURC-WAERS 

0..N
0..N

 VTV_SIGESH-WPRBETR = TCURC-WAERS 

0..N

0..N

TZAF

SANLF [NUMC (3)]

 VTV_SIGESH-SANLF = TZAF-SANLF 

0..N

0..N

TZPA

MANDT [CLNT (3)]

GSART [CHAR (3)]

 VTV_SIGESH-SGSART = TZPA-GSART 

0..N

0..N


